



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 210-7					CSC 302					CSC 401					CSC201					CSC204				
		Programming Fundamentals (C)					Linear Algebra					Programming Fundamentals					Data Structures & Algorithms					Computer Organization & Assembly Language					Theory of Automata & Formal Languages				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0091	Maham Masood (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2022-M-B-0100	Muhammad Huzaifa Nawaz Kundi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS Aut-2022-M-B-0109	Rana Hamza Altaf	-	-	-	-	50	D	1.5	3	4.5	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5			
B.S CS Aut-2022-M-C-0176	Saqib Hussain	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0			
B.S CS Aut-2023-M-A-0058	Syed Ahmed Kabir Hamadani	-	-	-	-	27	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	41	F	-	3	-			
B.S CS Aut-2023-M-B-0092	Laiba Shazad	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-2023-M-B-0111	Muhammad Zohaib Chughtai	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	36	F	-	3	-			
B.S CS Aut-2023-M-B-0115	Tahoor Ali	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5			
B.S CS SP-2023-M-B-0076	Imran Ullah	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5			
B.S CS SP-2024-M-A-0007	Aiman Zara	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0			
B.S CS SP-2024-M-B-0071	Abdul Raheem Bin Ejaz	-	-	-	-	34	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	37	F	-	3	-			
B.S CS SP-2024-M-B-0072	Abdullah Noor	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5			
B.S CS SP-2024-M-B-0075	Ahsan Ali	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0			
B.S CS SP-2024-M-B-0079	Ayesha Bibi	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5			
B.S CS SP-2024-M-B-0080	Eman Fatima	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0			
B.S CS SP-2024-M-B-0081	Fahad Naeem	-	-	-	-	41	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5			
B.S CS SP-2024-M-B-0082	Fiza Jabeen	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0			
B.S CS SP-2024-M-B-0083	Hafsa Aziz	-	-	-	-	28	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5			
B.S CS SP-2024-M-B-0084	Jawad Tahir	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0			
B.S CS SP-2024-M-B-0087	Maria Ameer Abbasi	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0			
B.S CS SP-2024-M-B-0088	Mubashir Mazhar	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5			
B.S CS SP-2024-M-B-0090	Muhammad Ali Shah	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0			
B.S CS SP-2024-M-B-0092	Muhammad Israr Iftikhar	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5			
B.S CS SP-2024-M-B-0094	Muhammad Saqib Javed	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5			
B.S CS SP-2024-M-B-0096	Muhammed Waleed	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0			
B.S CS SP-2024-M-B-0097	Musaeab Zahir	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0			
B.S CS SP-2024-M-B-0098	Nimra Naz	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5			
B.S CS SP-2024-M-B-0099	Omair Ismail	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0			
B.S CS SP-2024-M-B-0101	Rashid Saleem	-	-	-	-	23	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0			

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

		CSC-303					CSC-305					CSC404					CSC-405					CSC-503					CSC-504				
		Object Oriented Programming					Discrete Structures					Visual Programming					Advanced Database Systems					Artificial Intelligence					Web Technologies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0091	Maham Masood (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-B-0100	Muhammad Huzaifa Nawaz Kundi	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-B-0109	Rana Hamza Altaf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	55	C	2.0	3	6.0	70	B	3.0	3	9.0	
B.S CS Aut-2022-M-C-0176	Saqib Hussain	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	83	A	4.0	3	12.0	
B.S CS Aut-2023-M-A-0058	Syed Ahmed Kabir Hamadani	-	-	-	-	-	-	-	-	-	-	-	-	-	39	F	-	3	-	38	F	-	3	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-B-0092	Laiba Shazad	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-B-0111	Muhammad Zohaib Chughtai	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	76	B+	3.5	3	10.5	55	C	2.0	3	6.0		
B.S CS Aut-2023-M-B-0115	Tahoor Ali	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0076	Imran Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-		
B.S CS SP-2024-M-A-0007	Aiman Zara	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	84	A	4.0	3	12.0	91	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0071	Abdul Raheem Bin Ejaz	-	-	-	-	-	-	-	-	-	-	-	-	-	53	D	1.5	3	4.5	50	D	1.5	3	4.5	56	C	2.0	3	6.0		
B.S CS SP-2024-M-B-0072	Abdullah Noor	-	-	-	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	56	C	2.0	3	6.0	71	B	3.0	3	9.0		
B.S CS SP-2024-M-B-0075	Ahsan Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	75	B+	3.5	3	10.5		
B.S CS SP-2024-M-B-0079	Ayesha Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	66	C+	2.5	3	7.5	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0080	Eman Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	63	C	2.0	3	6.0	81	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0081	Fahad Naeem	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	64	C	2.0	3	6.0	82	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0082	Fiza Jabeen	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	84	A	4.0	3	12.0	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0083	Hafsa Aziz	-	-	-	-	53	D	1.5	3	4.5	-	-	-	-	51	D	1.5	3	4.5	61	C	2.0	3	6.0	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0084	Jawad Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	61	C	2.0	3	6.0	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0087	Maria Ameer Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	82	A	4.0	3	12.0	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0088	Mubashir Mazhar	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	54	D	1.5	3	4.5	71	B	3.0	3	9.0		
B.S CS SP-2024-M-B-0090	Muhammad Ali Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	79	B+	3.5	3	10.5	86	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0092	Muhammad Israr Iftikhar	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	67	C+	2.5	3	7.5	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0094	Muhammad Saqib Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	66	C+	2.5	3	7.5	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0096	Muhammed Waleed	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	57	C	2.0	3	6.0	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0097	Musaeab Zahir	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	60	C	2.0	3	6.0	84	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0098	Nimra Naz	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	78	B+	3.5	3	10.5	93	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0099	Omair Ismail	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-B-0101	Rashid Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	52	D	1.5	3	4.5	71	B	3.0	3	9.0		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

		GE269					HUM 304					HUM- 401					MT243					MTH-301					SSC 303				
		Applied Physics					Expository Writing					Ideology & Constitution of Pakistan					Probability & Statistics					Calculus & Analytical Geometry					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0091	Maham Masood (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-B-0100	Muhammad Huzaifa Nawaz Kundi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-B-0109	Rana Hamza Altaf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	
B.S CS Aut-2022-M-C-0176	Saqib Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	
B.S CS Aut-2023-M-A-0058	Syed Ahmed Kabir Hamadani	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS Aut-2023-M-B-0092	Laiba Shazad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-B-0111	Muhammad Zohaib Chughtai	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21	F	-	3	-	50	D	1.5	3	4.5	
B.S CS Aut-2023-M-B-0115	Tahoor Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	22	F	-	3	-	50	D	1.5	3	4.5	
B.S CS SP-2023-M-B-0076	Imran Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0007	Aiman Zara	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2024-M-B-0071	Abdul Raheem Bin Ejaz	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	57	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0072	Abdullah Noor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0075	Ahsan Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0079	Ayesha Bibi	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0080	Eman Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0081	Fahad Naeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0082	Fiza Jabeen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0083	Hafsa Aziz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0084	Jawad Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0087	Maria Ameer Abbasi	-	-	-	-	-	-	-	-	90	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0088	Mubashir Mazhar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0090	Muhammad Ali Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0092	Muhammad Israr Iftikhar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0094	Muhammad Saqib Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0096	Muhammed Waleed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0097	Musaeab Zahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0098	Nimra Naz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2024-M-B-0099	Omair Ismail	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0101	Rashid Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 210-7					CSC 302					CSC 401					CSC201					CSC204				
		Programming Fundamentals (C)					Linear Algebra					Programming Fundamentals					Data Structures & Algorithms					Computer Organization & Assembly Language					Theory of Automata & Formal Languages				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-B-0102	Shakir Nadeem Abbasi	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0103	Shoaib Azam	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5		
B.S CS SP-2024-M-B-0104	Syed Jalees Ul Hassan Fatmi	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	32	F	-	3	-		
B.S CS SP-2024-M-B-0105	Syed Muhammad Tayyab	-	-	-	-	34	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0		
B.S CS SP-2024-M-B-0106	Taha Ali	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0		
B.S CS SP-2024-M-B-0108	Tooba Sohrab	-	-	-	-	27	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0		
B.S CS SP-2024-M-B-0110	Usman Nawaz Satti	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	56	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0111	Veena Tehreem	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0163	Najaf Akbar	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	38	F	-	3	-		
B.S CS SP-2024-M-C-0164	Nazakat Ali	68	C+	2.5	4	10.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	23	F	-	3	-		
B.S CS SP-2024-M-D-0200	Abdullah Falak	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
BS CS SP-21-M-B-0075	Muhammad Ahsan Saleem (Withhe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

		CSC-303					CSC-305					CSC404					CSC-405					CSC-503					CSC-504				
		Object Oriented Programming					Discrete Structures					Visual Programming					Advanced Database Systems					Artificial Intelligence					Web Technologies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-B-0102	Shakir Nadeem Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	85	A	4.0	3	12.0	89	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0103	Shoaib Azam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	50	D	1.5	3	4.5	71	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0104	Syed Jalees Ul Hassan Fatmi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	52	D	1.5	3	4.5	71	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0105	Syed Muhammad Tayyab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	66	C+	2.5	3	7.5	83	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0106	Taha Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	53	D	1.5	3	4.5	71	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0108	Tooba Sohrab	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	59	C	2.0	3	6.0	51	D	1.5	3	4.5	71	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0110	Usman Nawaz Satti	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	59	C	2.0	3	6.0	83	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0111	Veena Tehreem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	63	C	2.0	3	6.0	80	A	4.0	3	12.0	
B.S CS SP-2024-M-C-0163	Najaf Akbar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	54	D	1.5	3	4.5	70	B	3.0	3	9.0	
B.S CS SP-2024-M-C-0164	Nazakat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	50	D	1.5	3	4.5	76	B+	3.5	3	10.5	
B.S CS SP-2024-M-D-0200	Abdullah Falak	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	61	C	2.0	3	6.0	96	A	4.0	3	12.0	
BS CS SP-21-M-B-0075	Muhammad Ahsan Saleem (Withhe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
 Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 4th Semester, Section B, Morning, Session Autumn 2025

		GE269					HUM 304					HUM- 401					MT243					MTH-301					SSC 303				
		Applied Physics					Expository Writing					Ideology & Constitution of Pakistan					Probability & Statistics					Calculus & Analytical Geometry					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-B-0102	Shakir Nadeem Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0103	Shoaib Azam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	54	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0104	Syed Jalees Ul Hassan Fatmi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
B.S CS SP-2024-M-B-0105	Syed Muhammad Tayyab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	
B.S CS SP-2024-M-B-0106	Taha Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	
B.S CS SP-2024-M-B-0108	Tooba Sohrab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0110	Usman Nawaz Satti	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2024-M-B-0111	Veena Tehreem	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
B.S CS SP-2024-M-C-0163	Najaf Akbar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-C-0164	Nazakat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0200	Abdullah Falak	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
BS CS SP-21-M-B-0075	Muhammad Ahsan Saleem (Withhe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026